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FHAERT 92 103 109 212|Fn HET 201 175 168 343|FkET— T H 307 255 194 449 | KT 275 311 325 636
ARYHT 189 172 201 373 BN 12,383 11,571 12,507 24, 078|&kAT =T H 175 161 129 290 | K HERT 681 821 900 1,721
JEHT 440 409 466 875 FERT=TH 119 140 137 277 KIEHX 3,732] 4,301 4,487 8,788
T 753 761 785 1, 546l ERT 245 250 276 526|FkET Y T H 70 41 53 94
b BHT 323 309 331 640| IR AT 3,861 3,898/ 3,940/  7,838] INHBHEX 9,940/ 10,011 9,853 19, 864 B[/ T 372 461 461 922
T 261 233 218 451 |Far BT 183 199 226 425 BT 251 328 349 677
)1 |y 116 116 117 233\ HHIT 490 490 469 959 [Hr T 1,236 1,488 1, 460 2, 9485 iET— T H 497 504 541 1,045
KAGHT 619 561 565 1, 126|JLAHT 3,756 3,913 4,057 7, 970|#fR T 346 385 416 801[skiifT — T H 227 226 257 483
BT 17 10 13 23| HLRmy 3,504 3,580 3,686  7,266[F )BT 1,667 1,676 1,800 3, 476|tR/|NEMT 601 650 673 1,323
E= 201 55 49 50 99|:& HRMT 619 613 633 1, 246| H T 1,153 1,327 1,301 2, 628|401 1,583 1,879 2,021 3,900
Fn T 212 215 249 464 5 BT 1,385 1,477 1,584 3,061 HrEnaHix 4,402 4,876 4,977 9,853| M /\IEHLIX 3,531 4,048 4,302 8, 350
Aeimmy 99 64 63 127 [ RAhHT 160 152 174 326
JUTREHT 190 204 227 431 H EHT 332 398 461 859 -2 HT 2,989 2,969 3,238/ 6,207 skHT 442 455 503 958
LI 127 93 86 179 HRIT— T H 368 386 390 776| K\ AKHT 1,221 1,300 1,223 2, 523|ZEIGFHT 296 339 348 687
AT 63 55 59 114 R ARET =T H 499 525 505 1, 030)/IN\AHT 1,292 1,419) 1,455 2, 874|535 HIHT 732 764 802 1,566
TFIHET—T H 149 152 141 293| R ERIT =T H 508 553 541 1, 094 EA S mT 464 551 563 1, 114{ 3 rp BLRT 233 281 282 563
TRIEET =T H 122 140 121 261 | HERATIY T H 318 329 397 726|MEITPE—T H 52 43 26 69| &% HhmT 1,195 1,364 1,427 2,791
TRAHET =T H 116 110 111 221 FRHX 16,228 16,763 17,339 34, 102|M=ETE =T H 119 103 104 207 [ BT 723 867 913/ 1,780
TATHETY T A 138 155 163 318 R —TH 329 223 322 545( st 3,621 4,070 4,275 8, 345
TRIHETE T H 68 55 13 68|41 JE T 3,746) 3,881 4,065 7,946 AT T H 33 34 37 71
A FrHT 453 413 473 886 | i T — 1" H 274 310 358 668|M=IT =T H 23 10 21 31| A EFHT 5,747) 6,114 6,328 12,442
FI4RAT 21 17 18 35| [T T H 592 594 670 1, 264([ZHETPY T H 130 130 118 248 | JLRT 211 270 283 553
TTHT 174 166 199 365 F wHT =T H 882 862 952 1, 814|# L HT 1,942) 2,048 2,171 4,219 AEEFHX 5,958/ 6,384 6,611 12,995
AT 30 22 27 495 AT 1,615 1,613 1,728 3,341 HIHIX 8, 594 8, 830 9,278 18,108
AT 175 143 189 332| FebHT 1,478 1,448 1,528/ 2,976 KIRHAT 396 415 466 881
ENINTE 500 464 529 993 (ML A7 HT 186 175 177 3524 IRy 461 404 556 9607t H | 533 613 637/ 1,250
YRR 25 17 23 40|\ TARET—T°H 514 506 492 998 | i | 2,316 2,318 2, 385 4, 703 J&5 B HT 654 783 739 1,522
T 77 63 68 BV TRET =T H 344 334 359 693| T K mT 242 303 325 628 |74 5 HT 139 152 140 292
HEAHT 42 39 50 SN TFAHET =T H 491 504 544 1, 048] 5 i HT 984 991 1,029) 2, 020|#k/5HT 628 739 765 1,504
[T 376 286 350 636\ THRHETIN T H 394 410 456 866 | HRERHT 534 616 614 1, 230| %% T 379 410 388 798
=1 155 148 169 317 Fr X 10,516/ 10,637 11,329 21, 966|HT E=H] 379 394 452 8467t [ 44 i 551 655 662 1,317
ST 2L 596 596 615/ 1,211 NS0 2,389 2,730 2,784 5514 Iy BHIX 3,280 3,767 3,797 7,564
LAl 26 27 24 51| Ly BpRT 2,363 2,489 2,645 5, 134|#7HIAT 155 199 202 401
# LT 493 474 529 1,003 | BFEERT 43 43 47 90 J\igEHEX 7,460 7,955 8,347 16, 302| kiEHT 270 346 358 704
i 24 30 28 58| b JEHET 3,705 3,790 3,778 7,568 TR THT 155 188 197 385
RS RLET 209 183 169 352| AL HERT 341 355 420 775 E &Ry 1,282 1, 392 1,423 2, 815 T 7 HIAT 172 217 221 438
JEHT 160 158 156 314|ZHT 697 692 7100 1, 402| T kT 1,925/ 2,106 2,175 4, 281| FigHT 425 501 511 1,012
AT 386 355 382 737 FEEFHT 1,392 1,683 1,671 3, 354 i T 831 845 943 1, 788 T 338 441 430 871
Eakiiy==tg 20 18 20 38| Tz T 1,710 1,953 1,904 3, 857|ALALRHET 473 456 525 981 | Vh £k ] 418 493 461 954
A AR HT 1,592 1, 568 1,735 3, 303| T HEHT 1,077 1,202 1,216 2,418 [ X 4,511 4,799 5, 066 9, 865 |/ \ I JLH] 401 472 498 970
R T 184 166 177 343 | Hr ik PRT 405 446 452 898 i) 1 H X 2,179 2,658 2,676 5,334
gzl 139 124 156 280 FFEIT—T H 582 621 620 1, 241|hpmT 491 560 581 1,141
[l 168 140 156 296|"PEET T H 1,319 1,184 1,426 2, 610 |44 HumT 463 562 587 1, 149 Al = & 460 509 196 1,005
B oThT 185 178 217 395|PEET =T H 625 660 719 1, 379 L8 |y 168 184 200 384 | A HIMT HE FH 389 418 420 838
EN) 168 135 147 282|HEHETIY T H 663 660 708 1, 36817 JIHT 143 177 188 365| Fr iR A E 184 192 197 389
JEATEAT 112 80 65 145 BIERT 981 1,003 1,071 2, 074 1|A] 1,212 1,373 1,435 2, 808| A PAIMT K 114 127 142 269
N 361 373 438 811 |11 FH % HHT 619 622 537 1, 159 8T BT 376 431 474 905 A vHIRT ) 117 328 340 343 683
L 221 167 215 382| A HX 16,522 17,403 17,924) 35, 327|%&[HIHT 441 513 507 1,020 ALK 1,475 1,586 1,598 3,184
1L FRET 112 97 105 202 Fldgmy 264 340 337 677
EL) 90 77 86 163| F/ My 799 850 922 1,772 REIFHLX 3,558 4,140 4,309 8, 449|FEHBHET PE I 2 712 793 861 1,654
PU 7 T 35 35 35 70| /T 481 563 617 1,180 FEYBIT 4 U 91 100 114 214
GaeLlE 43 35 39 74| LAAERT 2,917 2,882 2, 681 5, 563 | L AJHAT 1,288 1,378 1,433 2, 811 |FEHRMTIAZ IR 292 190 171 361
FEELIT 89 80 66 146| T /N BT 2,236 2,228 2,206| 4, 434|fF KAEAT 305 370 366 736 | FEABIT R 1,045 1,246 1,272 2,518
HAEHT 252 256 282 538| /T 1,455 1,502 1,479 2, 981 |4RiRr AT 717 889 906 1, T95| FEARMT HCH = 415 491 499 990
FERAHT 340 300 314 614 | SURHHET 1,381 1,389 1,435 2,824 FKJEMT 466 532 557 1, 089 FEABMT k& 1,448/ 1,635 1,699 3,334
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FEHRMT T 822 955 996 1, 951| & HHT /M 148 188 195 383
FEYBIT 5 ] 342 450 440 890 & FHHT 711 264 298 306 604
BT 212 242 217 459| & FHT AR 510 637 614 1,251
BT 1L 156 182 202 384 EHFHHTHI 295 338 341 679
FEYBHT )1 426 480 507 987 & H-HT it 617 746 716 1, 462
FEYBIT o B 6 4 5 9| & HMT K 412 530 510/ 1,040
FEYBHTFIARR 1,012 1,283 1,272 2, 555| HHT % 91 119 122 241
FEHBHT A5 1,826 2,034 2,208 4, 242(FE T 32 40 41 81
FEHRHL X 8,805 10,085 10,463 20, 548|# HHTHI{R 301 373 375 748
E AT 229 188 213 401
Aty 3,743 4,442 4,601 9, 043|FH HMT A 35 43 42 85
JEFHHET 1,664 1,923 2,040 3, 963[FH HMT KR 9 7 13 20
Ly 573 766 820 1, 586| HHAT Lt B 375 468 441 909
By 199 240 251 491| EHFITERR 49 63 68 131
Filaduf 15 0T 303 331 324 655 | HHT A 1 147 172 178 350
N 138 157 167 324| T 154 194 207 401
% T FH AT 73 92 104 196| & M7/ R 350 419 431 850
S[E Sy HT 270 384 383 767 | HMT g 120 153 150 303
TG[E 5y HT 237 327 306 633| & HHTE 194 232 220 452
Je sy 409 438 428 866 | H-HT /N EE 210 259 255 514
TorE BT 3,564 4,211 4,256 8, 467|E HHTEE 583 701 700 401
AT 1,702) 2,048 2,067 4, 115|EHHTREBE— T H 343 376 376 752
= Sl 848/ 1,026 1,052 2, 078|EH MG T H 398 421 459 880
rhR T 1,521 1,658 1,692 3, 350(HHMTEEE =T H 304 417 402 819
T 1,368 1,483 1,518 3,001 | HMT 451k 332 374 399 773
LT 481 582 588 1, 170| & HHT T L7 94 116 117 233
R FH AT 641 821 803 1, 624| & HHT_E B 133 174 151 325
JE T 525 600 649 1, 249(FEHMTIK O 56 70 69 139
TG H X ,259) 21,529 22,049| 43,578 EHIHAX 9,976/ 11,714 11,862 23,576
ST 727 5,844 6,134, 11,978
IR LIRS 727 5,844 6,134, 11,978
e HET 094 1,233 1,284 2,517
P T 888 770 894 1,664
s T 456 519 517 1,036
e Ly 88 48 73 121
BT 34 26 41 67
R BT 398 547 544 1,091
T HELRLET 008 1,143 1,187 2,330
v L LT 711 826 888 1,714
R ELEET 016/  1,173] 1,166 2,339
AGRHE] 887 1,090 1,062 2,152
T 701 815 843 1,658
FIE T 188 212 216 428
+ 3T 186 213 231 444
ERET 325 392 375 767
=Y A-RAT 105 102 108 210
AT 119 141 139 280
Hedn X 8,204/ 9,250/ 9,568 18,818
E T I 668 726 748 1,474
T H 1,182 1,265 1,320 2,585
EFHH] T RAR 285 328 327 655
AT AR 1,056 1,279 1, 356 2, 635 WA F 168,861 182,221 188,751 370,972




